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{ (4y —22)° + («® —2y+2—1)° = (B + 2y —x—1)° =0, (1)

(4w—2y)5+(y2—2x+y—1)5—(y2+2x—y—1)5:0. (2)
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a =4y — 2z, o =4z — 2uy; (3)
b=a?—-2y+z—1, 0 =y®>—20+y—1; (4)
c=—-z?2—2yt+a+1, =—y —2x+y+1; (5)
Sp=a"+b"+c" S, =d"+b" 4+ (neN); (6)
P=—(bct+ca+ab),P =— (b +cd +at); (7)
Q =abc, Q' =d'b'c. (8)
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(S5, 55) = (0,0). (9)

a+b+c=0,d +b+ =0, (10)
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Sn+3 =PSpy1+QSn (neN), (11)
S = PS4 QS (meN). (12)
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(S0, 55) = (3,3), (S1,51) =(0,0), (S2,53) = (2P,2P").
(13)
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(83,53) = (3Q,3Q"), (S5,95) = (5PQ,5P'Q’). (14)
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(PQ,P'Q") =(0,0). (15)
HT
P=0=d’+’+?=0=a=b=c=0= (2,9) = (:I:l,:l:%),
(16)
fRATR P'Q" #£ 0. B P’ =0 = PQ # 0. MIMMi&FFEd
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(Q7 Q') = (0,0) = (abc7 a’b'c’) =(0,0). (17)
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b =0
a' =0 =0 d=0
abc = 0 (z,y)
a=0 (0,0) (2p,p) | (=2p,—p)
b=0 (p, 2p) (a,9) (=p.p)
c=0 (=p,=2p) | (p.—p) | (—4¢,—9)




3+ 13 1+5
Hrp = 5=y
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FE4l). T (b,b) = (0,0) = b—b = (x—y)(z+y+3) =0,

(b,d) = (0,0) = b+ = (+y)(z—y—1) =0, (c,¢) =
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{ (4y—2:c)7+ (112 —2y—|—x—1)7— (x2+2y—x—1)7 =0, (1)

(4x—2y)7+(y2—2x—|—y—1)7—(y2+2x—y—1)7:0. (2)
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B X E M F RURHEA (S7,57) = (0,0). EHELH
(S4,84) = (2P?,2P), (S7,8%) = (7P?Q,7P?Q"),  (3)
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(P?Q, P?Q") = (0,0), (4)
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(@.Q") = (0,0). (5)
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+2)°+y+z-49°-(@2y+2:-4°=0, (1)
(z+z)+(z4+z—4)5— (22422 —-4)5 =0, (2)
@+y)°+(@+y—4°-Qe+2y-4)°=0 (3
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f&: xi=1,23 %
(,y,2) = (u1,u2,us), (4)
thy+z=U, (5)
ai=U—us, by =U—u; —4, ¢; = —(2U —2u; —4),  (6)
Sin =a; +bi' +¢i (neN), (7)
Py = — (bici + cia; + ab;), (8)
Qi = a;bic;. (9)
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(S1,5,52,5,53,5) = (0,0,0). (10)
ai+bi+c=0i=123, (11)
il =TT AESN {Sin},, oy WRBIELRN
Simis=PiSini1+QiSin (meNi=1,23).  (12)
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(P1Q1, P2Q2, PsQs) = (0,0,0). (15)
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Pi=0=a+b]+c;=0=a; =b; =c; =0, Lff, (16)
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(Q1,Q2,Q3) = (0,0,0) = (aibici, azbace, azbscz) = (0,0,0),
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(y+z—2p,z+z—2q,xz+y—2r)=(0,0,0), p,q,r € {0,1,2}.
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(4,0,0), (1,1,1), (2,2,0), (3,1,1), (2,2,2), (20)
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W+2)"+@W+z—4)"—Qy+22-4)7" =0, (21)

z+z) " +(z4+2—-4)"—(22+22-4)" =0, (22)

(@+y) +@+y—4)"—Q2e+2y-4)"=0. (23
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